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LMultiple-Choice Cloze 30% (each 3%)

1.When the low-profile Ang Lee, winner of Oscar for best director, made a small part of his acceptance
speech in Chinese, it wasn’t just a token nod to his linguistic roots. The world didneed __1___ that the
director of the gay cowboy love story Brokeback Mountain, __2___in the vast, stunning natural vistas of
Wyoming, US, is actually Taiwanese by birth and upbringing. In his films, Lee transits from one culture to
another__3__letting the effort show. From the universe of a Chinese martial arts fantasy (Crouching Tiger
Hidden Dragon) to Jane Austen’s pastoral England (Sense and Sensibility) to a Connecticut middle class
milieu (The Ice Storm) to the rugged, rough-hewn world of two cowboys who fall in love in ranch country, he
is _4 _no matter where he goes. It is the distance and objectivity that he brings to Brokeback Mountain, an
adaptation of a story by a Pulitzer Prize winner, that stand out as you watch the film. Itis a deliberately_ 5
but emotionally affecting piece of storytelling, but at no point in the narrative does the director get remotely
self-conscious about the nature of the film’s theme or the location of the drama.

1. (A) toremind (B) reminded (C) remind (D)reminding
2, (A)set (B) setting (C) was set (D)has set

3. (A)with (B) without (C) by (D)for

4. (A)objective (B) at ease (C) quiet (D)versatile

5. (A)paced (B) pacing (C)pace (D)being paced

growing an elephant egg. The technique could someday be used to help save some of the world’s__7

species. Mice could be used as factories to produce eggs of other species; the eggs could then be fertilized and
used to impregnate the endangered animals. Purdue University researcher John Critser leads a team that
transplanted ovarian tissue from African elephants into lab mice that 8 bred so that their bodies would not
reject foreign tissue. Several of the mice developed egg-producing follicles, and one 9  amature—though
misshapen—egg. The egg was not considered _10 _ enough to produce a successful pregnancy, but
Critser’s team had no intention of using it to impregnate an elephant at this point anyway.

2.In a medical feat that sounds like something dreamed up by Dr. Seuss, scientists have _6_ a mouse into

6. (A) coaxing (B) had coaxed (C) coaxed (D)been coaxing
7. (A) endangered (B) endangering  (C) endanger (D)dangerous

8. (A)have been (B) has been (C) were (D)had been

9. (A) contained (B) containing (C)was contained  (D)has contained
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10. (A) important (B) big (C) healthy (D)complete

IL. Choose the word that has the same meaning as the underlined words in the sentences.30% (each
2%)
1. Spain mourns its terrorist victims, while others ask if it is appeasing terrorists.
{Airritating  (B)challenging (C)applauding (D)placating
12. Christianity is very deeply embedded in American culture.
(A)influenced  (B) rooted (Clengaged  (D)reminded
[3. They attempt to nullify the election results.
{A)invalidate  (BJaccuse  (C)debate (D)retaliate
(4. We should pay attention to the etiguette of using mobile phones.
{A)cost  (B)problem  (C)rule (D)function .
I5. The “Lord of the Rings” trilogy based on J.R.R. Tolkien’s fantasy novels is a sweeping spectacle of computer-
generated imagery
(A) montage (B) performance (C)mixture (D)technology
16. Changes in our environment, lifestyle and human behavior all help to éncourage the spread of infectious diseases
(A) infective (B) unknown (Clnew (D)deadly
I7.  Swapping music over the Internet is fun and easy.
(A} Listening to (B} Exchanging (C)Searching  (D)Purchasing
8. The film is blasted as an allegory of Western imperialism over Islamic countries.
(A) praised (B) regarded (C)ignored (D)criticized
19.  If you struggle with any business predicament, you can benefit from brainstorming.
(A) situation (B}meeting  (C) dilemma (D)deal

=0, Oregon Attorney General Hardy Myers says banning same-sex marriage probably violates Oregon's Constitution,
(A)follows  (BJrevises (C)breaks  (D)fulfills '
. Arecent discovery of the mineral heiatite on Mars has sparked discussion among scientists who are determining
if water exists on the Red Planet.

{(A)accelerated (B)caused (C)renewed (D)invented
> More women should be involved in decision-making.
(A) interested  (B)absorbed (C)participated  (D)separated

;.3‘ The laws require advertisers to substantiate their claims.

{A) prove  (B)review (C) explain (D)promote

P These results have been achieved by a series of political maneuvers,
(A) negotiations (B)discussions (C)debates (D) ploys

25, The number of people going to the cinema seems to_dwindle steadily.
(A)decline  (B)disappear (Clincrease  (Djrise
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IIL.Identify the one underlined word or phrase that must be changed in order for the sentence to be -
correct. (20%) (each 2%) ’
2L At end of the Civil War the United States was ready to resume with a
A . B
roaring surge the westward expansion which had been interrupted for four years.
C ' D
17. Oberlin College awards degrees to both sexes as early as 1837, but coeducation in
A .
American colleges did not spread until the second half of the century.
B C D
2§. Although assemblage has been a part of art for centuries, its appearance in the West
A B &)
as a serious art form is quite fairly recent.
D .
3‘? Maria Mitchell, the first professor of astronomy at Vassar College, she was born in 1818.
A B C D
3o In general, newspapers emphasize current news, whereas magazines dealt more
A B Cc
with background materials.
D
3. Booth Tarkington’s writings were very extremely popular, but his conservative
A - B C
values soon dated his works
D . _
32 All the many different parts of the body, large and small, they combine to perform .
A B L
the processes essential to life.
D
33. Body temperature is usually highest inside the afternoon or evening.
A B C D
3k The advantages of computerized typing and editing are now being extending to all
A B C
the written languages of the world.
D
307 Adult education programs must be designed so the diverse needs of the
A B C D
participants in mind.
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1V. Reading Comprehension 10%(each 2%)
So long as the bulk of the population remains on the land as subsistence farmers, 2 modern industrial society
carmot develop. The farmers do not produce enough extra food to feed the workers needed in nonagricultural
pursuits. Nor can workers be released from the farms to the factories while so many hands are needed for
traditional methods of cultivation. And farmers who are not producing for the market cannot go to the market
as purchasers themselves. Local demand for consumer goods does not expand. There is thus no stimulus to
local industrial production. Agriculture must, therefore, yield workers and savings to the new industrialized,
urbanized sectors if a modern economy is to be achieved.
. Bé‘ What is the author’s main point?
(A) Traditional farming methods can enrich civilization.
(B) The development of an urban economy depends o the modernization of agriculture.
(C) People who work on farms tent to eat more than people who live in cities.
(D) The industrialization of modern society stabilizes the agricultural economy.
) -3’7 « According to the passage, a characteristic of food production in a subsistence economy is that
farmers
(A) must bring in workers from urban communities
(B) cannot produce all their own food -
(C) must buy some foods to achieve a balanced diet
(D) cannot grow enough food to support nonfarmers
. .38, According to the passage, what is a disadvantage of fraditional farming methods?
(A) Workers do not enjoy their jobs.
(B) Workers do not get enough to eat.
(C) Too many workers are necessary.
(D) Too many jobs are poorly paid.
B'C( . According to the passage, why is local industrial production NOT stimulated in a subsistence
economy?
(A) No modern equipment is available to begin production.
(B) Industry cannot develop when there are few customers for its products.
(C) Farmers do not want to go to markets very far from where they live and work.
(D) Locally produced consumer goods are generally not well made.
i Lf_o"ﬂne paragraph following the passage most probably discusses
(A) the creation of a demand for more agricultural products
(B) the difficult transition from an agricultural to an industrial economy
(C) guidelines for hiring greater numbers of farm workers
(D) the recent revival of the family farm system

V. Translate the following passages into Chinese (10%) (5% each)
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1.Anti-spam groups are trying to stem the tide of unsolicited e-mail.
2. If you were to choose the most predominant word for this year, which word would it be? Early this month, the
authoritative Merriam-Webster Dictionary announced “pandemic™ as its word of the year.




